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Unit 9 Review Date Period

~Find the measure of the arc or central angle indicated. Assume that lines which appear to be
diameters are actual diameters.
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Find the measure of the arc or angle indicated.
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Find arc length and sector area for each. Give both exact and approximate answers.
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are

tangent.
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ip. T entary.
Identify the angle relationship, Then state if the angles are congruentor supplem y
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Solve for x.
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Find the measurement indicated in each parallelogram.
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Solve the following equations.
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